
SHORT or OPEN 

ferrite bead 

LED1 

LED2 

LED3 

My customer want to select 
at two pattern. 
 
1.LED1,LED2 and LED 3 ON. 
 
2.LED1 and LED2 ON, 
   LED3 OFF. 
 
When LED3=OFF,IFB5 and 
IFB6 Open processing. 
 
However, the voltage of TP1 
are different as follows. 

   SHORT 
LED1=ON 
LED2=ON 
LED3=ON 
TP1  =20V 

   OPEN 
LED1=ON 
LED2=ON 
LED3=OFF 
TP1  =7.5V 

When the Open process, the voltage is set to 7.5V 
Will it has a normal operation? 



OPEN 

LED1 

LED2 

LED3 

In addition, it is the result of 
the re was modified by 
customer 

IFB5 and IFB6 Short to GND 
processing. 
The results 
 LED1=ON 
 LED2=ON 
 LED3=OFF 
 TP1  =20V 

※It does not Change even  
    without the ferrite bead a result. 
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